PART NUMBER: C1573T, C1583S
PRODUCT: NERF STEPS

APPLICATION: 2015-C TAHOE /
SURBURBAN

nzfah'com nfabinclfJtis)

PARTS INCLUDED: Qry

Driver side step 1
Passenger side step

HARDWARE PACK:

M8 X 1.25 Hex Bolt 12

M10 x 30 Fender Washer 6

5/16 Flat washer 6

5/16 lock washer 6

INSTALLATION:

Step 1: Starting with the driver side, remove the nine OE 7" bolts from the factory running
boards. Carefully remove and set aside. Fig. A

Font of Running Board
Both sides.

Four Brackets

OE %" Bolts
Per side

Step 2: Repeat step one with passenger side. NOTE . Be careful not to damage AC lines when
removing factory running board. Fig. B

12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325



Step 3: Carefully lift up N-Fab Nerf-step into position, lining up the brackets with the OE
mounts in the pinch weld and upper treaded holes in the inner body. Starting with the bottom
mount in the bracket, insert the supplied M8 x 1.25 Hex head bolts with the 5/16” lock washer
and 5/16” flat washer (small) and thread in. Leave loose at this time. Fig. C

M8 Hex head bolt
with large fender
washer

M8 Hex head bolt
.8 with lock washer
m’s and small flat washer

Step 4: Insert the supplied M8 x 1.25 Hex head bolt and M10 x 30 Fender washer into the
bracket and upper threaded hole. Leave loose at this time. Fig. C

Step 5: Once the step is in proper alignment, tighten all lower bolts then all upper bolts.

Step 6: Repeat steps 3-5 with passenger side. Note: Be careful not to damage factory AC lines
when navigating brackets into position. Do not use any factory hardware when installing
Nfab nerf steps. This will cause damage to lines. (Fig. D)

Use extra Caution!
when installing
Around AC lines




